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X, )55 BB FIE > S T(, -, X, ) 53 - e = H T
ATk SR [PRT(X,, - X, )5 #EEHB(Statistic) -

E[ 1»3'5“{'5! liﬂklj'\_'ﬁ it IJI:E’I"R ’ s --,X ’|€J5}F[§gjﬁg@§?—?\
[ > P76 et Bl R 53 R Bl (Sufficient Statistic) °

[ Remark ]
HICEBAIF A ) X, X, RS R p &)
I,

P{X, =x,-,X, =x,

(X1, X, )= 4 P2Ur o > HIH A
JIARERED o

X, X, BRI [ £

Fl . PAT(X, X, X, ) =13 =0 0 FILSR C A2 fll 57T ) 5
T PESER R T RARHEI P Y

5)REA.1

Y, Y, Y,— 5Ber(0) » BREES=Y,+Y,+Y, >
T=YY,+Y;AISRBRONADHEE * TEERO0 NRIMEE 2
0




1-2 #HP&

P{(J/1ay2aJ73)|S =s}=

P{(y;,y,,y3) NS =s}

P{S =5}
_ —P{(;{l:gy:;})} A y+y, +y;=s
0 , HAh
L/
Bk | s | T | POLyL»)|S=00 | PlOnyasys)|S=1
0,0,0) | (1-6)° 0 1 0
(1,0,0) | 61-6)* | 1 0 0 1/3
0,1,00 | 61-6)* | 1 0 0 1/3
0,0,1) | 61-60)* | 1 1 0 1/3
0,1,1) | 8°A-6) | 2 1 0 0
(1,0,1) | 6°A-6) | 2 1 0 0
(1,1,0) | 0°1-6) | 2 1 0 0
(1,1,1) 6’ 3 2 0 0
Hek P{(31,52,33)| 8 =2} P{(y1,¥2.73)| S =3}
0,0,0) | (1-6)° 0 0
(1,0,0) | 6(1-6)* 0 0
0,1,0) | 8(1—6)* 0 0
0,0,1) | 8(1-6)* 0 0
0,1,1) | 6*(1-6) 1/3 0
(1,0,1) | 62(1-6) 1/3 0
(1,1,0) | 62(1-6) 1/3 0
(1,1,1) 0* 0 1

HICEBA2)[ 41 S=Y+Y, + B2 Er0 iyt S35 E -
N P{(»=0,y,=1,y;=0)T =0}




$—F Assitg 13

_ Pi(),=0,y,=1,y;=0)nT =0} _ P{(» =0,y,=1,y,=0)}
P{T =0} P{T =0}
0(1-0)* 0
T(1-0+20(1-0) 1+6
R0 “Ejréfg v T =YY, +Y, P ERREO T 53 G A -

528 A.2

%YI”YHL)Ber(p) o

HBES=3Y, B NHEDHEE -
i=1

P{(Yl =y1,"',Y,, Zyn)mSZS}

ad P{S = s}

L P{(Y, = y,.Y, =,)

_PF =y, Y, =y,)0S =5}
P{S =s}

1.
—, ity ++y, =5

0 , Hft

CCEBA2I A S =27, KL SEro ok Si B -
i=1

{ )28 A3
e’ - if x=0

Let X,, X, —2%>f(x)=10e" . if x=1, show that
1-@+1)e?; if x=2
X, + X,is not a sufficient statistic for 6 . (F Lo & EPT)
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P{X, =2,X,=0}
P{X, +X,=2}
B {1-(@+De e
2{{1-(O+De e+ 0%
X+ X, T IEO A STARERED -

- P{(X, =2,X,=0)| X, + X, =2} =

{ ZIREA4

Let X and Y be random variables having joint density f(x,y)

below.
fy) | y=-1 y=1
x— =1 1-36+6> 062
x=1 6 -6 6 +62
Determine 6 sothat X and Y are independent.
Show that X +Y is a sufficient statistic for 6 . GETF &K P7)

- PX=1Y=1}=6+6"

Y PX=1}=20=P{Y =1}

HIE XY © P{X =1,Y =1} = P{X =1}P{¥ =1}(2x2 table)
= 0+60°=46° @49:0,;
1, if (x,y)=(-1,-1)

.,-P{(X=x,Y=y)|X+Y=—2}={O -

1.
P(X=xY =y)| X +7=0j=] 2 » T (oM =CLDG=D
0 , Hih
o i ey =@
P{(X—x,Y—y)|X+Y—2}_{O e

FAUSTE BA2) [ 41 X +Y ELOfRk ST kFHE -



Neyman-Fisher4 2 & I¥
=
@I_(Neyman-ﬂsher factorization theorem)
X, Xy, X, —2s f(x;6)
E' :‘EII—E“‘_I‘:[:— %%E{ T(X1:X27”"Xlz) ’ I,E[f:g
S (%50 %,50) = [T £ (30) = k(3. %5,7++,%, )@ (T (31, %55+, %,)36)
i=1

o HEET(X,, Xy, -, X, ) E32 80 fog 5TREHE -

(E5HB ]
B X, X, SRS R [ & N -
(<)
T(X,,X,, . X,) L2 Hr0 i 53585 £ -
Fl PAX, = x,, X, = x,| T (X,,--+,X,) =t} = h(X,, -+, X,)
?%ﬁ‘fgﬂ?@ﬁtﬁ% >
CPX =x,0 X, =X, 0T (X, X)) =8
PT(X,,---X,)=t}
PiX =%, X, =x,}
=1 PI(Xy,-X,)=t;
0 ] Taemg
:h(xl,...,xn)
ﬁ g(T(x,+,x,);0)=P{T (X, -, X,) =t}
[ PEX, =X, X, = x,} = PAT(X,,- X,) = 11 h(x, -+, x, )
=g (T (x,-++,x,):0) h(xy,--,x,,

, 1f T(X,,---,X,)=t

=)
’ﬁ PiX =x,, X, =x,} = [(x,%,x,; 0)
=h(x, %y, X,)8 (T (x,%,, 7, x,);0) 75
HIPAT(X,,- - X,) =1}
:Z{T(xl,n-,x”):t}h('xl’”.’xn)g(T(xl"“’xn);9)
=8(t0) 274y ey (5150 ,)



1-6  #H3P &

SPX =x, X, =x,|T (X, X,) =t}
_PX =x, X, =x,, T(X,,-, X, ) =1}
PT(X,,-X,) =1}
P{X,=x,,X,=x,}
=« P{I(X,,X,)=1}

. if T(X,,-, X, )=t

0 ,Af T(X,, X, )2 8
h(x1,-..,x,,) , if T(le...’)(n):z

= Z{T(xl,'<',x,1):t}h(xla"':x,,)
v . if T(Xla"':Xn);tt

)R8 A.5

201 X, X, —2L 5Poisson (6 ) »
@) Xy, X, —29 5Ber (0) »
HOBIRADBREIE RO WD HETE -

- X, X, — 45 Poisson(d)

n

n -n0 o = ixi
."f(xl’”.’xn;e)znf(xi;e):e ne B nl eingei:l
i=1 Hxi! Hxi!
i=l i=1

n ix,
F[’ —?J h(x, - x, )= nl ,g (in;HJ =e g
Hxi! i=l1
i=1
[/ Neyman-Fisher 2B E IR [i' 41 > D X, H50 fute 73 EHEl -
i=1
@ X, X, —24 5 Ber(0)

L f G x;0) =] f(x:0)=07 (1-6) - =[m) 1-6)
i=1



n Zn:xf
[ h(xl,---,xn)=1,g(§xi;9] :(LJ“‘ (1-6)"

1-6

[543 Neyman-Fisher } i8E 18 ) ' 41 » in_ 5,0 1
i=1

N o=
Fo JTAREED o

I—?Eff%@%z(indicator function)

1,if xed

0, otherwise

Fi L) L () = {

PR L, (o) SR T PR AT F -

[Remark] :

AR BRI

(D E(1 (x)) = P(4), Var(I ,(x)) = P(A)(1 - P(4))
@F AZBELRYFEAR A > HII 1, () (¥) =1 45(x)

(FEEF] :
W2 R(HEHEREEI(ESE)

l1,if xe A and xeB
@)1, (x) [5(x)=

=1 X
0, otherwise 405(0)

X pup.dffr X, Elflﬁﬁ[ﬁﬂé‘?afj%% ’ E]J#F’,?FQET[E@IU@T FIFE

%ﬁﬁm#ﬁo

*‘ EFBAS

jEu[ Xl,u-,Xn—M—)f(x;Q) I H‘Q=(91r",0r)T

B LG50 =[ [ £ (:0) = g G To(@):0)h ()
i=1

’E‘:EFIKZ(XI"”’Xn)

MG (X0, . T (X)) RLO UG /) FE kT B oint sufficient statistic)
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[Remark] :
(HOEBASIF A1 (X, X, )15 0 JOGH F)F STHFE <

ETE

Xl,'-~,Xn—M—>Poisson(¢9) )

7)108 = 1

e, 0) = [ [ f (3:60) = - ——|6u0" -
i=1

Hx! I1x!
i=1

1
» LX) =x,T(%) =%, T,(X) = x,

[T

F'J ’ﬁ h(xla"'axn)_

El{ff‘i}%{EEAMH ip (1,0, X, ) £5.0 Gt £ ST B -

= I(X) = (LX), -+, T (X)) ’Ereﬁ”(w ()7 73 R B

o)

WERBASIHN - F 7 [E fREre - PR
T'(X)=¢ (T X)) =T (X)), T, (X))
=g B  HIT0(X) 1L O UG )& 03 AR E -

(FERA) -
LX) = (LX), T (X)) B3 QG ()Fe ST kGHED «

f(xla"',xn;9)=lj[f(xi,9) =g (T (x), . T (x);0) h(x)

=g(T(x);0) h(x)
2 TNX) = g (T(X) FR LR [ 67
T(X)=¢" (T (X))
Il (a0 x,:0) = g (T(x): ) h(x) = g (¢7 (T(X)): 0) h(x)
=g (T"():;0) h(x)
FIFCEIBALIF A1 T(X) 1 VO G ()R STRGHED -




[ Remark ]
(EIBAS)H BB $ L1 RIS H I 4 7o

{ ZUREA.G

(DLet X,---,.X,—29 5U(0;6) ,6 >0 find a sufficient statistic for
6.

@Let X,,---,X, —22 U@, 86,), 6, >6,, find a sufficient statistic
for 6=(6,,6,).

l if 0<x<@
LD X, X, —2 s f(x:0)=40"

0 , otherwise

l/jf{‘f(x.g)H[ : xE,fjgg[E;@?ngﬁT& o

RIS f (x5 @) I B RS f(x 9)— (09)(x)
S SO x,0) = H ](0 5)(x) 0" Hl(o,e)(xi)
n 1(O<xl<€)m(0<x2<¢9)m ‘N(0<x,<0)
I N=
g 0.0 () {0 otherwise
s 1 0 <Xy Sxgy <X, <

) =15 (0)
0, OtheI'Wise ( (n)> )

FHr X, <X )S---SX( ") E@(Xl,---,X ) PUFRE R E

HIlf (e x50 H Lio,0)(x;) = oo)(e)

9” (x()
’I&J h(x,-,x,)=1,8(x,0)=—
HItENeyman-Fisher 3 S £ ¥ fi' 41 » X, :m;jaXXl. £% 0 Uk 5
5

20

'l

El
Ei e
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1
@ Xy, X, —24 s £(x:6,,0,) =16, -6,

,if 6, <x<6,

0 , otherwise
A F(x36,0,) FI1 > XTI 0,0, -

] S 05361,00) S 885 /(530,00 = 5l )

n

1
S S x,360,,0,) = HH 0, Lo .0,)(x:) = (0—9)[1 Ly .0,)(x:)

n
Hl(el,ez)(xi)
i

I, (6,<x,<6,)n (0, <x,<0,))N---N(0,<x,<0,)
:{0, otherwise

1, if 6 <Xy xS X, <6,
:{0, otherwise

= 1(—00,)5(1))(01 )I(x(”),oo) (92)
Z 1
Pl Gy X,56,,60,) = Hﬁ 0, L9, .0,)(X;)
=il &)
1
- @, -0 )n 1(—w,x(]))(el)l(x(n),oc)(HZ)
PR

1
(e—e)n (—03 x(]))( 1) (X(ny» co)(e )

HIABCE ALY A (X ), X)) F5(6,.6, )pj(ﬁF Y ST SASFE o

—?J h(x,e %) =1,8 (X0, X3 6,,60,) =

5)REA.7

Let X,---,.X,—2>N(®,;6,),0,cR, 6,>0, find a sufficient
statistic for 6 =(6,,0,).

e X, X, —24 s £(x:6,,6,) =

2
exp —M ,— 00 <X <0
26,

1
276,




_ 2
.-_f(xl, - n,el,e) H\/ 20 exp{_(xi?ﬂ@) }
2 2

1 Z('xi _91)2
= —expy—t—n—
(270,) 26,
x2 0 x
_ 1 nexp_; i . 1[=1 l_n012
(272.02 )E 292 02 292

’ﬁ h(x) =1,g(zxi,zxi2a9p92J
=1 =l
n 5 n
o, )
1 ZX li;‘xl nglz
= —eXps — + -
(272.9 )z 292 0, 26,

U IBA5 ) 41 [Zx, ,zxjﬁ (8,,0,) 96 £y Fo 7B -

[ Remark ]
W(BIREAT I '.';zlzn:xi , st = L {ZX __(ij }
nj- n—1

wpﬁ{ﬁyﬁi%)a@m%EM%ﬂ@EUwaﬁﬁwﬁ@

(8,,60,) [FIG 3 ST B -
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{ ZUREA.8

Let X,,-+-, X, be i.i.d with p.d.f

lGe’g",0< X < o0
2
f(x;0)= 1 ,—%SXSO,9>0
0 , X< _—1
2
Find a sufficient statistic for 6 . (% = 5T P
A 1 i’(o‘w)(xi) n
g xn0) = ] f(5560) = (56’)” exp {— 0 X1 . (xl.)}
i=1 =l
il(o,w)(xi) i[ 0.0y (%;) n
= [%]1_1 {911 “& }exp {— Hz xi](o’co) (xl)}
i=l

1 il(ﬁ,m)(xi)
i=1
2J

g(Zl(o,m (%) Z X1 (0.0 (%) ;6’]
i1 i=1

anl(om)(xi) n
=0 exp —HinI(ij)(xl.)
i=1

M EEEA-5]F[J H o (i L0,y (X:) 5 ixi[(o,oo) (xi)j £ 6 [N G FL\] )

- o=

O

all

o=
JIARFED o

]
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(O % #4 M (Completeness) i 48 B 35 A2

B REBYC  Hpd i f(c6) - T HRWFTING B B
4 {1(:0)| 0 < O} IR [ 5 B B (family of p.d.f) -

{ E#% B2
¥ BEESRBRYX > Hp.d R {f (0)|0 e O} » F IR kL
E,{g(X)}=0,V0ecO®O=g(X)=0
(Hir{g(X)=0}=1,V0<0)
HII7E MR L 52 fig B9 (completeness) -

[ Remark ]

W RTHFHIORRRRL L+ oK e R AL PFRp
Oyt —AI RN R EET E RO ©

F 1L p.d PRIV I -

- EFEI T(X) - Hp.d i £(56) » ¥ SE0p.d 1
{/:0)|0 € 0} 5y » HIPERFE 5 T(X) 52 kAt B(complete

statistic) -

%)2&B.1

.. n
(DLet X;,--, X, —295Ber(®), 0<6 <1, to show that > X;is
i=1
complete.





